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B B | BEEES R ouT | IN GROSS | HDCP | NET
B B &8 %X 44 45 89 | 25.0| 64.0 AK
#EW HE % 42, 48 00 | 22.0 | 68.0 AK
sz AL A M 47 88 | 18.0| 70.0 AH
Mz BN =E 48 47 05 | 24.0 | 71.0
5| BE 20 46 44 90 | 17.0| 73.0
61 HR BEA 45 50 95 | 22.0| 73.0
ML B 49 47 96 | 22.0 | 74.0
8l KAR fB— 44 47 91 | 16.0 | 75.0
of| KL EH— 49 45 94 | 19.0| 75.0
106z BEE BE 46 49 95 | 20.0 | 75.0
114 BE RRE 48 48 96 | 20.0 | 76.0
126z BB T 54 45 99 | 22.0| 77.0
134 2R EE 50| 50 100 | 23.0 | 77.0
14 mE EE 49| 54 103 | 26.0 | 77.0
156z A =t 55 48 103 | 26.0 | 77.0
1662 ER BAR 53 55 108 | 31.0| 77.0
174 KB EeT 47 47 94 | 16.0 | 78.0
186 A 47 48 05 | 17.0| 78.0
190z A& B 52| 49 101 | 23.0| 78.0
204z BJII $BA 53| 56 109 | 30.0 | 79.0
2L M Bk 51| 56 107 | 26.0 | 81.0
2047 #E HH 52| 46 08 | 16.0 | 82.0
230 BR B 46 53 99 | 17.0 | 82.0
24k ER KA 65 48 113 31.0| 82.0
254 M B 59| 57 116 | 33.0 | 83.0
264 BAR FOik 48| 56 104 | 20.0 | 84.0
2k KB KT 60| 55 115 31.0 | 84.0
28| BB EXR 59| 61 120 | 36.0 | 84.0
296 R BE 43 61 104 18.0 | 86.0
06 FH =k 57| 57 114 27.0| 87.0
31z M EBE 56| 58 114 | 24.0| 90.0




